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However, by rape, she, is understood, etc. - ¥912 57198 X»5w3a 618 RPN

Overview

The Xn>>12 teaches that by 7non since it states' "3 7928 18%° 387 0K, it is understood
that both the father and the daughter can be 20¥», however regarding 01X, we know
that she can be 20vn since it states,” 7°7n 171 (indicating with her consent), but from
where do we derive that the father also can be 25¥» by 01X, Our N19010 resolves some
apparent difficulties.

mooin asks:
= 39979 Y959) 99590 NN DINT 1P NN

It is astounding; since we derive the laws pertaining to 77ns2) ©1% one from the

other -
= 19319 12N NIN 9N NI 471902 799979 217110 199)°9 903 XNDIN NNY

Let us also derive one (011X) from the other (7ino») regarding this matter (that
201 7°IR), as XpP°119n X211 asks "W 27 shortly, so what is the X773 asking, ‘but how

do we know that the father can be 20y by 013%’; the answer should be that we derive it from
nnon?!

N1D0IN answers:
- 5985812 NMY DINY 52935 9195 DN NAT Y7775 135993 KY XN SNAYT 9119 U

And one can say that regarding this matter (of preventing the marriage) we do
not derive them from each other, for the ne% can hold back and prevent the

marriage, while the o138 he ‘must drink from his vessel’ (he must marry her) -
— 77903 AN YANP 593 597 295 9195 H%AN PN 333 XN 11D NI

And similarly here as well the father cannot prevent the marriage (just as the Dix»
cannot), and this is precisely what "2k states shortly -

10,20 (Dwown) NMnw.
213,325 (R¥n) o1
3 See previously (on 2,03 and 2,n7) that the 2109 (in 10,20 [D0owWn] MnW) regarding a 7non which states M 2PW> A
mM”na7, teaches us that a inon must pay 701 wnn like a DIR» (where the 71N writes [in ¥3,25 (R¥N) 2°7127) "3 AN
no2 2w n) and a DINM must pay fifty 0°2pw like a inan (where it states 21pw?).
4 See the very bottom of this Tmy.
5 If the non does not want to marry her, he merely pays the 01p. However the 01xn must marry her unless, either she
or her father refuse.
6 See the 71w on oW w1921 X,05.
7 See the X3 on this Ty where X says, %7 K7 "1 772K 20V7 %1 R 1RT DN 2097 X7 73 7°38 20U7 *¥n 1PRT 7091
2ovn. See ‘Thinking it over’.
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- INY 9P KNT 1192 991 11915 7Y 43N0, NY ENa9)
However to X21 this does not seem logical to say so (that the father cannot be 20vn),

since there is a Y''? which compels us to assume that even though the Di1xn cannot refuse,
however the father can prevent the marriage just as by 7non.

n1voIN asks:
- 92599995 TPI0NN INNN VN 22) 2N 99NN ON)

And if you will say; why do we need it to be written by o1 that she can be 2y -
= 9120 DD NATDY 99WI RVIN RN NIY NIIDN »ANY 99

According to 2R let us derive this rule by the same logic of ‘that the sinner
should not profit’ (which he utilizes to derive that the father can be 20v» by 01IX),

and according to X219 we can derive that she can be 20y by 01X through the v''p
from 7no» just as he derives the father can be 25y by 01X from no», why do we need the P1057?!

moon answers that indeed we do not need the P105:
= 959919 199N AYND 19NN 197 999D v

And one can say that we indeed derive this rule by a 77v1 as mo01n suggested, and

the P05 of WK 71970 KY is not superfluous -
- 07971 199597 MYTS) AYUYY O79908NT]

For it is required that if the 0187 is not married to her, he transgress a 7wy mxn, and
it is also needed for the 197 mentioned previously. This is from the a'"=:s.

Mmoo offers an alternate answer:
[N 129D 997 9Na NON 291 1IWUN NN XY NA9) AN 1) ON

Or you may also say, X371 %28 would not have given their answers (respectively)
unless the 770 revealed it explicitly that she has to agree.

Summary
We do not compare 01X to 7non regarding the criteria for being obligated or exempt

from marriage

8 X271 maintains that we derive that the father can be 20y by o1 through a 1"p from 7non. See the X713 shortly.
° The 7110 writes 7WR? 770 XY that it must be 7nyTa; why do we need this P105?!
10 The bracketed area is an addendum from 2°3w> N90IN, as noted in the margin.
' This may be referring to our mwn» on X,u%, where we exclude 72»p% >R 11X ,HRIW2 R2? 787 K ,MW 127 from
12 IR WK LIWRY 7970 K9
12 Had there been no P10 (of 710 ®21) which we expound to mean that she has to consent, we would have assumed
that they must marry and no one can stop it; however now that we know that she can refuse, we can derive from a
X720 (like »2K) or from a 1"p (like &27) that the father can also stop the marriage.
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Thinking it over

mooIN explains that we cannot derive 01X from 1n9» that just like by 7inon the father
can be 20vn, the same should apply to 011X, for we see that only the 7no» himself can
be 20¥n, but not the oixn.!* However why is it necessary for the »12>7 of 1¥»> 18 by
nnon to teach that she can be 20¥n, we can derive it from 01X»; if by 01X»n (where the
DIRM cannot be 20¥n, nevertheless) she can be 20¥n (we derive it from 70y L7700 19),
so certainly by nnan (where the 7non can be 20¥») she should be able to be 210vn, why
do we need the poo?2!!*

13 See footnote # 5 & 7.
14 See R"wAnn.
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